B E I PR
717 A=A w4 9% (5] - <)
2 o 1=]
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
37 21,289,039 15,138,971 6,150,068
e 19,365,381 13,196,468 6,168,913
FotdxF TS 17,098,081 11,002,870 6,095,211
AAANYL S 35,515 34,340 1,175
2A Y g75} 23,160 23,170 A10
A9 1,630 1,630 0
1. 2 4LAFA A% 1,630 1,630 0
7h A s s Aed 1,630
1) $9e= 210-01 |50,0009 x5%= 250
2) Zuhn] 210-07 |40,000€ x10%= 400
3) AR 210-07 |250,000¢ x 14 x 23] = 500
4) 893 230-02 |15,0009 X 87 x 43] = 480
AGZE YA 20,760 20,760 0
1. AEFdaynSEd 19,760 19,760 0
7h A A A 13,000
1) $ogx 210-01 |50,0009 X 3% x 28] = 300
2) AR = 210-02 |1,2009 x 1259 = 150
3) Ak (dah) 1,000
7} 718 210-06 |160,0009 x 4% = 640
W) 23 210-06 |90,0009 x 4% = 360
4) A== 210-07 |700,0004€l x 2] x 23] = 2,800
5) AgH] 210—15 |70,0009 %1257 = 8,750
U, A HF 9w S 7 ) 210-01 |250,00091 x 47 x 23] = 2,000
o A dA AT 4,760
1) $adgx 210-01 |50,0009 X 5% x 28] = 500
2) oA ALK = 210-02 |1,2009 x50 = 60
3) FFel A 210-07 |700,0009 x 1t}= 700
4) A3 210-15 |70,0009 x50 = 3,500
2. A F T AR Be}AS 1,000 1,000 0
7}, AR 59 w87 ] 210-01 |1,000,000¢ x 19 = 1,000
22349549 770 780 A10
1. 2&FFH AT A 770 780 A10
W = FoldE2FTaF - AAALLE — wA AL} - FEAATFEY




7188 AEdE5WAA
719 AR A 4K 9% (he] - Al
Z (e} =]
woipy B3| T3 | 0T Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
7k WAL el 7o
1) ¢34 210-01 |52,0009 X 10%= 520
2) Ak (L) 250
71 7= 210-06 |160,0009 % 1= 160
W) 23 210-06 |90,00091 x 19 = 90
A F DA} 8,355 7,170 1,185
T AAAEE 6,150 4,485 1,665
1. 2ZZ5A 1,230 1,180 50
7 2 A 1,230
D A4+ 600
7} 7= 210-06 |100,0009) x 47 = 400
W) 27 210-06 |50,00091 x 4™ = 200
2) /\1/\]__/;3]- 240
71 7] 210-06 40,0009 x 21 X 23] = 160
W) %3} 210-06 |20,0009 x 2% x 23] = 80
3) EA5 210-06 |50,000¢1 x 3% = 150
4) o3 230-02 |15,000€l x 81 x 23] = 240
2. AAHAD) A1 2329 2,130 1,290 840
7h LA 3] 2,130
1) ¢98% 210-01 [30,0009l x 2%= 60
2) A+ 1,800
74 7] 210-06 |100,00091 x 47 x 33| = 1,200
W) %3 210-06 |50,0009 x4 x 38]= 600
3) %93 230-02 15,0009 x 67 x 38| = 270
3. A FYNEF7} 800 640 160
7F w9 Nt 800
1) FXeg 210-06 |100,00091 x 4™ x 23] = 800
4. L AFEEY 350 350 0
7h AR dEEGASF 350
1) $oaF 210-01 |50,00091 % 7%= 350
5. AAJAYGFF3 1,640 1,025 615
7F g AA R 1,640
WE - FoPl 2T TS - AXAARTE - wH AU} — L AU




AR A5 AE 20223 (A) | 20219 (B) | TH(A-B)
1) AT 210-06 |40,0009 x 87 x 43]= 1,280
2) o3 230-02 |15,0009 x 87 x 33] = 360
=R PYRTES) 705 645 60
1. AFFAjAAr#Y A 4 705 645 60
7h QIARS] 2 8 705
1) A4t 210-06 |100,0009 x 17 X 33]= 300
9) %93 230-02 15,0009 x 97 x 38| = 405
22 AAATT 1,500 1,500 0
1. 28T EA YA AT 1,500 1,500 0
7h WA RIS A 3] 1,500
1) $99= 210-01 |30,0009 x 8% x 18] = 240
2) ZA ) 210-06 |100,000¢1 x 3™ x 33]= 900
3) gol3 230-02 |15,0009 x 127 x 23] = 360
4,000 4,000 0
2224 4,000 4,000 0
1. A4 =35399 4,000 4,000 0
7). AREF 5 SEA 9 240-01 |2,000,0009 X 2748 = 4,000
1,087,055 580,935 506,120
R X 472,096 175,953 296,143
R B X PR | 448,305 151,748 296,557
L 255 I9T 986 1,228 A242
7h A A 986
1) =F=EA2 210-01 |16,0009 x 20%-= 320
2) AAEE (duh) 300
71 7B 210-06 |100,000¢ x 27 = 200
) x3} 210-06 |50,0009 x 2% = 100
3) Y8 210-06 | 14,0009 X 31 X 4] 7k= 168
4) A 230-02 |8,000¢1x18% = 144
5) 7-A1n) 230-02 |3,0009x18%= 54
2. T LEHZLTIAT 3,794 3,794 0
7h A A 294
1) 73 () 150
SuE - 1F - B LY - w5 RgdA A 3




PSR E_AE AEUS 2022€d(A) | 2021€9(B)
7h 7%= 210-06 |100,00091 x 1= 100
W) z7 210-06 |50,0009 x 1= 50

2) duw 210-06 |14,000¢1 x 31 x 2A] 7k= 84
3) 7-41n) 230-02 |3,0009 %204 = 60
L SR G A7 A2 D 3,500
1) 5 ZA-7ATEAL 620-03 500,0009 X 77} L= 3,500
3. 4ol HEFALEY 93,374
7h GolH oWl B = wALA T4 2 2474
1) Agn) 210—15 30,0009 x40 = 1,200
2) 7R (L) 150
7hH 71 & 210—06 |100,000¢ x 1= 100
W) 23 210-06 50,0004 %1% = 50
3) Avw 21006 | 14,0009 x 3] x 24| 7F= 84
1) ol A w 210-07 600,000 x 1t}= 600
5) 2H] 230-02 |8,0009 x 409 = 320
6) 7+ 230-02 |3,0009 x40 = 120
L, o]l B 2 WAl 7] 90,900
1) B 110-03 |2,300,00091 x 21§ x 129 = 55,200
2) A2 Fg 110-03 |100,0009 x 27 x 129 = 2,400
3) ¢33 ERFT 110-03 |150,0009¢1 x 21 x 129 = 3.600
4) Felolxtg 110-03 [400,0009¢1 x 27 x 129 = 9.600
5) 2328741 210-15 |1,650,00091 x 21 = 3,300
6) Aokt %] -dn] 210-15 |2,900,0009 x 21 = 5.800
7) HAE 320-05 |2,329,00091 x 21 = 4,658
8) AR V| AR+ 320-05 |57,600,0009 x11.01%= 6,342
QAP ERaEL Y 323,056
7}, 1710 323,056
1) ol R WA} 231,528
7h A% 110-03 |31,000,0009) x 57 = 155,000
) Ao gt 110-03 100,00091 X 5% x 129 = 6,000
oh) gojnlFEAX Y 210-15 400,000¢¥ x5 x12¥= 24,000
) A2 210-15 |300,0009 x 5% = 1,500




718 AEZE A
71389 AR Ed A SA9H (2] A )
2 o 1=]
gopzg 22| B3| 2% Aol %A REXE 202241(A) | 20214(B) | F7HA-B)
ol) Al7Fal A Al ok §AF - 210-15 |2,000,0009 x5 = 10,000
up) ¥=#=+ 320-05 |2,600,0009 x5 = 13,000
AP 4T H.E 7| B 320-05 |39,300,0009 X5 x11.21%= 22,028
2) Tg e oln 91,528
7h AR TG 210-01 |20,0009 x 20% x 253] = 10,000
) 8+7]% o o] A A = 210-01 |5,000€ X 7004 x 23] = 7,000
h SatAIdEF ol mA 9] 210-01 |18,0009 X 200% % 13| = 3,600
2} 27w A A 2 210-01 |5,000€ X 1,000% x 23] = 10,000
uh) WS 210-01 |200,0009 x 4= 800
v masksae 210-12 |100,0009 x 210 = 21,000
AP A& A EA A 210-01 |500,0009 x 521 x 48] = 10,000
o) &3 230-02 |15,0009 X 20 x 83] = 2,400
2 9 A xFeEA] ) 210-07 |330,0009¢ x 64t = 21,120
2}) 5 A A F= o] ZAn) 310-01 |3,2009 X607 x 129 x 23] = 4,608
7h =AY 430-01 |10,0009 x 1007 = 1,000
5. B}t w499 10,000 38,587 228,587
4 e R Rl R R B 21013 |10,000,0004 x 13 = 10,000
6. e AR Y 3 2,095 2,765 AB70
7h. e X 3 2,095
1) $98F 210-01 (23,5009 X 10%= 235
2) AFEn) 210-01 90,0009 x 10748 = 900
3) A=} 210-06 |40,0009 x 12 = 480
4) 7+21) 310-01 |3,000€ X100 = 300
5) 393 230-02 15,0009 x 12 = 180
7. AFLEHAE L P 15,000 12,000 3,000
7 FRuSadsAd 15,000
1) S98= 210-01 |24,0009 x 10%E= 240
2) ZAAETF (L) 210-06 |40,0009 x 2 X 14038] = 11,200
3) YF= 3,560
71 A 210—12 [4,000€1 x 2507 x 33]= 3,000
W) A} 210-15 |4,000€ x 2 x708] = 560
ASA AR F 7,550 7,250 300
W - FOPREFERS - BFHHFBEAN - BEHILY - RAARANLRF




718 AEdEHIA
e AR AR A A A
o (e} =]
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
1 A3 AR G w A LR F 7,550 7,250 300
7 ARS] A O S A R 7,550
1) 2 Az 210-01 |28,0009 x 200%-= 5,600
9) A=tk 210-06 |100,0009¢ x 159 = 1,500
3) 93 230-02 |15,00091 x 157 x 23] = 450
ENgaTYSe 16,241 16,955 AT14
1. gAstuLgA 4 16,241 16,955 AT14
7b. FA s w34 9 160
1) AXg 2z 210-06 |40,00049 x 2% x 23] = 160
2) & o3 230-02 |15,0009 %10 x 23] = 300
B PE RS IO E X 754
1) 8= 210-01 [50,0009 x6%= 300
2) AR (An) 100
71 7B 210-06 |100,0009x 1= 100
W) x7 210-06 |50,0009 x 1= 50
3) A 210-06 |14,0009 x 31 x 2A] 7k= 84
4) A1) 310-01 |8,000€x20% = 160
5) 7+214) 310—01 [3,0009 x20™ = 60
o, vk oo o
1) a2t 210-06 40,0009 x 129 = 480
2) 71-414) 230-02 |3,0009 %100 = 300
2k GALGF T SANEES 1,020
1) $93g= 210-01 40,0009 x 8% = 320
2) A g} 210-06 |40,00091 %10 = 400
3) & o3 230-02 |15,0009 x 2078 = 300
el G B R R P S R R R S 2,870
D) A (A 2,450
71 75 210-06 |50,0009 x5 x 73] = 1,750
W) 23} 210-06 |20,00091 x5 x 73] = 700
2) 71-414) 310-01 |3,0009 %20 x 73] = 420
vh AadaAbed A 6.670
1) $aex 210-01 |50,000€l X 12 = 600
WL - FolREFERS - RFFBEAY - BERF Y - SRR




718 AEdEHIA
)
At S S-A5 AbEU 2022 (A) | 20219 (B) (A-B)

2) &) 210-15 |30,0009 x 407 = 1,200
3) AT (LD 450
71 7] 210-06 |100,000¢1 X 3% = 300
) =3 210-06 |50,0009 x 3= 150
4) <=uh) 310-01 |25,0009 x40 = 1,000
5) Al arw 210-07 |800,000¢ x 1t] x 28] = 1,600
6) Azt m 210-07 |300,0009 x 14 = 300
7) A1) 310—-01 |8,0009 x40 x 48] = 1,280
8) 7+-41H] 310-01 13,0009 x40™ X 23| = 240
AL AR AR DAL E T8 3,687
1) 993 210-01 |50,0009 X5% x33]= 750
2) A (b 840
7 71 & 210-06 |50,0009¥ x 4% x38]= 600
) =3} 210—06 20,0009 x4 x38]= 240
3) g 210-06 |14,0009¢ x 31 X 6A] 7k= 252
4) 2EFA 27 210—07 340,000 x 1t x 38| = 1,020
5) 2] 310-01 |8,0009 %25 x 33]= 600
6) 7F21) 310-01 |3,0009 X259 x33]= 225

23,914 21,194 2,720

Az A 10,430 7,410 3,020

1. ZAZ=gANA L 10,430 7,410 3,020
b 2SR SN AR 5,460
1) ¢ e 4] 210-01 |30,0009 x50 = 1,500
2) Ak (LR 210-06 50,0009 x 187 x 23] = 1,800
3) A& 210—11 |30,0009 x 8% x83]= 1,920
4) 7Fr211) 230—02 |3,000¢ x 8% x103]= 240
Bl LR RS 1,350
1) S98=% 210-01 |50,0009 x12%= 600
2) AT (L 210-06 |100,0009 x 37 x 28] = 600
3) 7+211) 230-02 13,0009 x 257 x 23] = 150
o FEW R AEAAA R GA A 3,620
1) =479 210-01 |15,0009 x 2003 = 3,000




7@d AEDEYIA
71k AekR e A s A 9% (47 : A4
Z (e} =]
gopzg 22| B3| 2% Aol %A% Az 202241 (A) | 20219(B) | F7HA-B)
2) ZIAFG (A W) 210—-06 |100,0009 x5 X 13]= 500
3) 7+21H) 230-02 |3,000€ x40 x 13]= 120
88 AR 9 13,484 13,784 A300
1. SHEARA Y 13,484 13,784 2300
ME S E R 1,684
1) $99x 210-01 50,0009 x 6% = 300
2) Ak (LR 150
71 7B 210-06 |100,0009 x 1= 100
) =3} 210-06 |50,0009 x 19 = 50
3) Y= 210-06 |14,000¢ x 31 x 2A] 7= 84
4) ¥ 2] 3 230-02 |15,0009 %109 = 150
5) WY Eola] X ¢n) 240-01 |1,000,0009 x 171€= 1,000
B PP AR B 1,800
1) 9A AN 210-01 |30,0009 x 607 = 1,800
T}, x| O ol A5 A 10,000
D) SadguEsag 10.000
7hH =38k 620-03 |2,000,000¢ x 57} .= 10,000
Zeral o 7 4,205 7,285 23,080
A=A A829Q 4,205 7,285 A3,080
1. AL g =3 2,205 2,205 0
7t 2 RANA ALY 1,110
D s9ex 210-01 |5,0009 X 6% = 30
2) AME S} 210-06 |40,00091 x 8% x33]= 960
3) 393 230-02 |15,0009 x4 x 23] = 120
R Rl 1,095
1) $98=% 210-01 |10,0009 x1¥= 10
2) AXLE S 210—06 40,0009 %137 x 28] = 1,040
3) 7HAH] 230—02 |3,0009 x15% = 45
2. AV S EAE A2 HF 2,000 5,080 23,080
7t AR AR 2,000
1) A=A 2t 210-01 |20,000€ X 1004 > 13]= 2,000
BSolu S 6,560 6,560 0
B - fOlRRFE RS - BSR4 — Folug




7E AEFEYAA
b R A B b R (5] - <)
Z (e} =]
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)

Sol S 6,560 6,560 0
1. X978 34 Y 3,560 3,560 0

7h A A A A 1,476

1) $ode=x 210-01 |50,0009¥ x6%= 300

2) 73R (L) 600

7 7] 21006 |100,00049 x 1 x43]= 400

) =3 210-06 |50,0009 x 17 x 43] = 200

3) Y8 210—06 |14,000€ X 31} X 2A] 7k x 4 3] = 336

4) 7+414) 230-02 |3,000¢1 X201 x43]= 240

. A S A" A 764

1) e A= 210-01 |4,0009 x 90%-x 13] = 360

2) At (L) 250

7h 71 210-06 | 160,00091 X174 x13]= 160

) =3} 210—06 90,0009 %1% x18]= 90

3) ZFARAH] AN 210-06 70,0009 x 1% x13]= 70

4) Qa7 210-06 |14,00091 x 37 x 2] 3k= 84

AR LA A s 1,320

1) $98=% 210-01 |50,0009 x4F*x13]= 200

2) Ay 210-15 20,0009 x 207 X 18] = 400

3) xeel e 210-07 |500,00091 x 1t x 13] = 500

4) AH) 230-02 |8,000¢ x 207 x 18] = 160

5) 7+-41H] 230-02 |3,0004¢ X201 x 13| = 60
2. §AL2AAL 3,000 3,000 0

7h XA EsaAA Y 620-03 3,000,0009 x17]e= 3.000
EZgS 249,098 140,333 108,765
Ernsed 249,098 140,333 108,765
1. E5 S dAE LY 249,098 140,333 108,765

7b ST S A g AlE 2 249,098

1) 7FA}e1AN] 45,856

7H 7= 110-04 [2,513,1709x 14 x 129 = 30,159

) g2 110-04 |140,0009 x 1% x 129 = 1,680

) 7ESS 110-04 40,0009 x1% x12¥= 480




AF Y e == A= AEUe 20229 (A) | 20214 (B)
2h) 457 110-04 |600,000¢ x 19 x 23] = 1,200
nh) A 7)o 110-04 |450,00091 x 17 x 28] = 900
uh) Axpred 110-04 [111,3009 x 174 x20%= 2,226
AP AR 110-04 |29,620€ X 17 x 454 2k= 1,333
o}) "rE3] E 2 H) 240-02 |550,0009 x 19 = 550
ZH HAHHF 320-12 |3,631,0009 x 1% = 3,631
21 4R 7| PR+ 320—12 [32,971,4509 x11.21%= 3,697

2) g 1 A:Mey) 25,390
7hH EREE 210-01 |10,000€ x 1007} = 1,000
) xps A2 210-01 |5,0009 x 100%-= 500
oh) T2 I (LD 5.600

(1) 71 & 210—06 50,0009 x4 x208]= 4,000
(2) =3} 210-06 20,0009 x 4% x208] = 1,600
2h) A (2R 1,100
(1) 71= 210-06 |100,000¢] x 73] = 700
(2) 23} 210-06 |50,0009 x 83] = 400
) YyuE 210—06 |14,0009 X 61 X 10A] k= 840
Hb) A1) 310-01 |8,0009 %107 x 2038] = 1,600
AP 7H21H] 310-01 |3,0009 x10% x208]= 600
op) zI&hg7Hl 32 1,100
(1) AeE 718 Y9 F 210-01 |100,0009 x 2= 200
(2) AAF=F 210-06 |40,0009 x5 x 38| = 600
(3) AAA T 210-11 |100,0009 x 3% = 300
) g2t w 210-07 |500,000¢ x 1t x 28] = 1,000
2} A =1 210—11 10,000 X507 x103]= 5,000
7H WA A H] 210—15 |100,000€ x10% x 33]= 3,000
Ep) A S 210-15 |15,0009 x 35 x 48] = 2,100
b)) BHAAH ALY 210—15 15,0009 %207 x 58] = 1,500
b & o3 230-02 |15,0009 x 10 x 338]= 450

3) £=3]on] 220-01 |20,000€ x57 x 1208]= 12,000

4) T Aol s 3k 140,356
7h) A A 420-02 |126,660,0009 X 7.967%= 10,092

= 2~ o] = 2~ [elife)
- 55FuS - STFLEEY 10




71838 A4S WA
719 - A EEg A T47] 9% (23] - 2l
2 o 1=]
Bop By ﬁf‘j ?};3 jg AFgiu el o= RERE 2022d(A) | 20219(B) | ER(A-B)
) A A 420-03 |84,438,0009 x 1.5 = 126,657
) 7)) 420-04 |126,660,000¢ X 1.995%= 2,527
2}) A A E ) 420-05 |126,660,0009 X 0.852%= 1,080
5) 71 &-FH] 25,496
7h 9 EE 210-01 |100,0009 X 25% x 23] = 5,000
W} Axam 210-01 100,000l X 5% = 500
o) AP ESAIH] 210-01 |500,000¢ x 23] = 1,000
) A7) 210-09 [102,0009x12¢= 1,224
up) Bzt e 210-09 |231,0009 x12€= 2,772
Hh) AFRL7) 79 7 F 9] 430-01 |13,000,00091 % 12]= 13,000
AP HZ3E7)A 430-01 |1,000,000¢ X 26 = 2,000
=TS 24,904 22,454 2,450
ENE=2 7899 21,340 19,340 2,000
1. EE=Ea8A9Y 1,160 1,160 0
7h EAEA7| WS AdAT 1,160
1) $ojgx 210-01 |20,0009 x 8% = 160
2) A (g 1,000
7h) 7] 210-06 |160,00091 x 4= 640
W) %7 210-06 90,0009 x 4= 360
2. 5A==d3EP 20,180 18,180 2,000
7t SAEE3EY 1,474
1) A=A 2 210-01 |16,7009 x 20%-= 334
2) ZHAETk(elun) 750
71 7] 210-06 |100,000¢1 x5 = 500
W) 3 210-06 50,0009 X 5% = 250
3) d1s 210—-06 |10,0004l x 31 X 3A]7k= 90
4) 72 310-01 |3,0009 %20 x53]= 300
U BT 5,606
1) $ojg= 21001 |50,0009 % 7%= 350
2) ZAEE (duh 600
7h 718 210-06 100,000l x 47 = 400
W) x3 210-06 50,0009 x 4= 200
W - fFold 2T s - AFsHFEeAd - SRS - 5=

11




719 A& e A
7134 AR RSN v SA 9 (k] - xd9)
2 o 1=]
gy 7 ?};3 o8 NEN = RENE 20229 (A) | 20219(®B) | Z%(A-B)
3) g 210—06 | 14,0009 X 3vl X 8|7k x 18] = 336
4) Z=uh) 310-01 |10,0009 x 407 = 400
5) x}&elxtg 210—07 |500,000¢ x 1t} x 23] = 1,000
6) 21H) 310—-01 18,0009 x40 x 43| = 1,280
7) ZF21H) 310-01 13,0009 x40 X 23] = 240
8) A= H 210-11 20,0009 x40 = 800
9) A aln 210-12 15,0009 x 40 = 600
= e R = oV B ) = R 8,100
1) SAS27])50} o () 240—-01 |700,0009 x 3748 = 2,100
2) SAF2A7])F0} o (WA 240—01 |1,000,0009 x 178 = 1,000
2. shehr|skE el 71X 10,000
1) $99% 210-01 50,0009 X 10% X 23] = 1,000
2) EA 4] 210-01 10,0009 x850¢ x 18] = 8,500
3) AT 500
7hH 71 & 210-06 | 160,0009 X 1 X 28] = 320
W) %3 210-06 90,0009 x 14 X 23] = 180
B pEABLY 3,564 3,114 450
1. AR AAE &Y 3,664 3,114 450
7). 9 8F 210-01 [100,0009 X 2% X 374 = 600
L AR (A RD 1,350
1) 71& 210-06 | 100,000¢ x 3% X 37} 5= 900
2) =3} 210-06 50,0009 x 3% X 37 5= 450
o}, ZFARA B A 1) 210-06 |10,0009 X 3™ X 37 = 90
EI A= 210—06 |14,000€] X 35 X 2A] 7F= 84
v}, 48] % L ojn) 220-01 20,0009 x303] x 29 = 1,200
v}, 3 9] g 230-02 |15,0009x16%= 240
EWIEX 171,580 89,190 82,390
3densdF 142,720 62,520 80,200
1. FPE3o L 142,720 62,520 80,200
7 Aadsol w3k z 114,920
1) 9% 210-01 |50,0009 x12%= 600
2) AAE 280

12




7188 A& 22 A
7134 AR RSN v SA 9 (k] - xd9)
| [e) A=}
gopzg 22| B3| 2% RESHE Sy Ao 20229 (A) | 20214 (B) | Z7H(A-B)
7h 71 210-06 |40,0009 x 73]= 280
3) A= (4R 500
7h 71E 210-06 |160,0009 x 27 = 320
W) 3 210-06 |90,0004 x 21 = 180
4) A En] 210-13 |4,500,0009 x 17} 1= 4,500
5) A1) 230-02 |8,0009 x 107 x 48] = 320
6) & 9] 3 230-02 |15,0009 x 107 x 28] = 300
7) AAA A H) 420-02 100,000,000 X 8.42% x 17 it = 8,420
8) A An) 420-03 100,000,000 x 17} iL= 100,000
. 25stuntgdsold x4 620—03 9,900,000 x 2743 = 19,800
ot oA w5 gkt 8,000
1) $98= 210-01 |50,0009 X 50% = 2,500
2) A=A 2 210-01 |1,500€ x 1,000%= 1,500
3) A Adeztm 210-07 |4,000,0009 x 14 = 4,000
ZEASET 28,860 26,670 2,190
1. d=3AS5Y 3 A 4 1,200 1,200 0
7t A=A S 3 1,200
1) Asxa 310-01 |100,0009 x 4716l = 400
2) 247 620-03 |200,0009 x 471 €= 800
2. A542dA S 3 1,800 1,800 0
7h A= Ad A S 3 1,800
1) Asu3 310-01 |100,000¢ <6748 = 600
2) TAAN 620-03 |200,0009 x 6715l = 1,200
3. A AEXEFHY 3 420 5,100 24,680
7t g =SH o 3] 420
1) 7FAn) 310-01 |3,000¢1 %701 x 23] = 420
4. 71t S 3 2,120 2,120 0
7h. W5 7Hel A 5 o 3 2,120
1) $98= 210-01 |50,0009 x 12%= 600
2) T3 e 210-01 |40,0009 x 147 = 560
3) 28] 310-01 |8,0009 %307 x 48] = 960
5. 54T 59 23,320 16,450 6,870

5 2% 13




7134 AR RSN v SA 9 (k] - xd9)
woipy B3| T3 | 0T Aol %A REXE 202241(A) | 20214(B) | F7HA-B)
7t ST EEY 22,000
1) 2538w 620—03 |500,000¢ x 387 = 19,000
2) = 620—03 |500,000¢1 X 67 = 3,000
. W adnkEd A dAr 1,320
1) AE=AEAn) 620-03 |15,0009 x 88 = 1,320
SR = 84,538 77,806 6,732
R S AR=Ra | 7,650 9,314 21,664
1. QXA SEERY 4,350 4,350 0
T AR SR IR THEY 4,350
1) £98=% 210—15 |50,0009 X 3% = 150
2) A= 210—07 |600,0009 x 1t} x 28] = 1,200
3) T2 WA 210-13 30,0009 x50 = 1,500
4) A1) 310-01 8,000 x50% x33]= 1,200
5) 7FA1n) 310-01 13,0009 x50 x 23] = 300
2. A w5 A=A Y 2,500 4,164 A1,664
7}, SR RO % 91] 5] 8- 2,500
1) nEAHALY 620—03 1,500,000 x 17} = 1,500
2) stuEHEAdeY 620-03 1,000,0009 x 17 .= 1,000
3. Z2xdgsAL 800 800 0
7h BRI %A 800
1) AFEn) 210—-01 |20,0004l x40% = 800
S ZHA YL v 18,024 9,350 8,674
1. T ZF AR = 18,024 9,350 8,674
7h s e EA = 800
1) $9e= 210-01 |5,000€ x 1007} = 500
2) 393 230-02 |15,0009 x 20 = 300
LI EAS = S L S R 2,000
1) S98=% 210-01 |5,0009 X 1407 = 700
2) “EX 430-01 |1,300,0009 x 1tj= 1,300
o}, S F o A 4] 0] 9] 9 3] 8- 15,224
1) £98% 210—-01 |100,00049l X 5% x 23] = 1,000
2) A5 7,350
L - FOIREFERS - DFRHBEAYN - FUYSAE - FZ Py
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popny % | = AR Apel el == AR 20224 (A) | 20219(B) | Z%(A-B)
oA | A | A : T e - - o
71 7] 210-06 |100,0009 x 74 X 73]= 4,900
W) =3} 210-06 |50,0009 x 7 x 73] = 2,450
3) A (L) 1,720
7h 7)1 E 210-06 |160,000¢ x 21 x 23] = 640
) =3 210-06 |90,000¢l x 27 x 3A1 7k x 28] = 1,080
) Y38 210—06 14,0009 x 37} X 127 7k= 504
5) Al lztE 210-07 |300,00091 x 23] = 600
6) &7 210-01 |150,0009 x 3A] 7k x 78] = 3,150
7) 893 230-02 15,0009 x 157 x 43]= 900
g Es 58,080 58,358 A278
1. 9 (WEE)Z2AEZJA ¢ 58,080 58,358 A278
7}, A EATol 2 ofn) 220-01 |20,000¢ x 3% x 753]= 4,500
U, 9991 38,880
1) $98= 210-01 |100,000¢ x 24F= 2,400
2) X2 7;en) 210-15 |1,130,000€ X 103] = 11,300
3) =44 430-01 |10,000€ %359 x 23] = 700
4) A2 A A 210-15 |300,000€ x 109 = 3,000
5) A @Al H] 210-15 |300,00049 x 23] = 600
6) TR EE A= 210-15 |2,000,000¢ x 13]= 2,000
7) A e X g A ] 210-15 |100,000€ X 107 x 108} = 10,000
8) F¥nA 210-15 |300,000€l x 67 x 13]= 1,800
9) AE A5 n] 210-15 |150,0009 x 34 x 28] = 900
10) 222 A A 210-02 |350,0009 <128 = 4,200
11) 21 310-01 |8,0009 %907 x 23] = 1,440
12) 7+21H] 310-01 |3,000€ X907 x 28] = 540
o AR wA T 14,700
1) 43| wA}I =) 210-15 [100,0009 x 37 x 13]= 300
2) 4=3]o9n] 220—01 [20,0009 x 3% x2103]= 12,600
3) 435 240-01 [50,0009 X3 x12¢¥= 1,800
s Ao A B 784 784 0
1. Sy ka e 784 78 0
7h S n A A S (il
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71 AEZEY A
71387 - AR A wSA A (k9] - A 9)
2 o 1=]
gopzg 22| B3| 2% Aol %A REXE 202241(A) | 20214(B) | F7HA-B)
1) $983% 210-15 |3,0009 x56™ = 168
2) A& 210-15 |3,0009 x 56 = 168
3) Aln) 230-02 |8,0009 X568 = 448
AZASaS 50,160 40,160 10,000
A2y SLY 50,160 40,160 10,000
1. A2 5843} 30,160 30,160 0
7h A E2ASFGEA) 160
1) A (dRb) 100
71 71E 210—06 |100,0009x 1= 100
2) 7H21H] 230-02 |3,0009 %207 = 60
2SR Z w3 XY (97 ) | 620-03 30,000,0009 x 1= 30,000
2. AZ2AF=ZZ2 1398 20,000 10,000 10,000
7h S E RS T2 TR 10,000
1) $98= 210-01 |100,000¢ X 30%= 3,000
2) 7 (YN 3,000
7h 7)1 210-06 |100,0009 x 307 = 3,000
3) A= 210-07 |500,000¢ x 221 = 1,000
4) 2= 210-07 |500,0009 % 2t = 1,000
5) A& 210-15 |10,000€ x 2007 = 2,000
L =2 A AE - 10,000
1) $98=% 210-01 |100,000¢ x 20%= 2,000
2) A5 A2 210—-12 10,0009 X 500%-= 5,000
3) A= 210-07 |500,0009 % 621 = 3,000
ASEX 567,150 557,464 9,686
IR SRR N P 369,860 355,994 13,866
358y e 308,100 295,220 12,880
1. 3358w 84 311 ¢ 176,740 203,860 A27,120
7}, SR Y E ALY 174,240
1) =3 73AA 4 210—13 32,0009 X 33% X 5A]7F X 33F= 174,240
L Vol AA ARl 566
1) $98x 210-01 |50,0009 x 7%= 350
2) ZIAr (L) 90
W - fOlYETERS - BERA - YHFtnU R - BTt ned
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71@E AEZEYAA
7197 Ao e A m 54 9 (5 : 44
2 [e) 1=}
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
OWIES 210-06 |50,000€ x 1= 50
W} zw 210-06 |20,00091 x 1% x 23] = 40
3) 918 210-06 | 14,0009 x 3 X 34 7k= 126
RS TEETA  Reh R 1,934
1) $9¢= 210-01 |50,0009 x 32% x 18] = 1,600
2) ZAAER (L) 250
71 7] 210-06 |160,000¢ % 1= 160
W) 23 210-06 90,0009 x 1= 90
3) 918 210-06 |14,000€l x 3vj x 24| k= 84
2. M3 Ene sty 3R Y 20,300 20,300 0
7}, i3} EnpS ek o 210-13 |10,000,00091 x 27] 7] ¥k= 20,000
I R Rk 300
1) $98= 210-01 |10,0009 x 3% % 23] = 60
2) Artr 240
7hH 7% 210—06 40,0009 x 29 x 23] = 160
W) %3 210-06 |20,0009 x 24 x 23] = 80
3. 32 A Iu A A 1,060 1,060 0
7} AdE S 210-06 [40,0009 X6 = 240
L. ofH] 820
D) ¥ 220-01 |20,000€1 X 17 X 248 = 480
2) T 220-01 |40,0009 %1% x535]= 200
3) =9 220-01 |70,0009 x 17 x 23] = 140
4. ¢33 A IA A 110,000 70,000 40,000
7 RS- g A 110,000
1) 258w 620-03 |7,415,0009x 107} 1= 74,150
2) 8w 620-03 |7,170,000€l x 57} .= 35,850
ZRFAS 61,760 60,774 986
. E2xz @99 61,760 60,774 986
7h e EwadEAds 1,760
1) &98= 210-01 |50,0009 x6%E= 300
2) ZEAER (L) 500
7hH 718 210-06 160,000 %1% x 28] = 320
W& - fotd 2T eug - uS55A] - YAFIudEEud - EELALY 17




Ay Z—A = e 20229 (A) | 20214 (B)

W) =3 210-06 |90,000¢ x 174 x 28] = 180
3) dug 210-06 14,0009 x 3vll X 24| 7k x 28] = 168
4) QFA WSH] 210-15 |20,0009 x 224 = 440
5) A4 230-02 |8,000¢ x 227 x 28] = 352
U BB R e 60,000
1) 258w 620-03 |6,000,000¢) x 107} .= 60,000

TRSAANA 135,000 145,000

A3} 135,000 145,000

L agdged~4e 82,000 82,500
7t AR AA w5 3 -] 50,000
1) =38 620-03 [2,500,000¢ x 207} &L= 50,000
b St 5 A 4 %) €l ) 32,000
1) 228w 62003 |2,000,000¢] X 167} .= 32,000

2. AL 7 2 YT A EZ 42,000 51,000
7}, SRS F o] &9 H] 210-15 [1,000,000¢ x2074€ = 20,000
L ZARRFSF ol &9 H) 240-01 |1,000,0009 x374&= 3,000
o} StAEY IR AE (8hw$-9)) | 210-15 [1,000,0009 x 4748 = 4,000
2. Srob7h= e 15,000
1) $ojg= 210-01 |50,00049 X 3%= 150
2) 73R (L) 14,850
7 71 210-06 |100,0009¢ x 17 x993]= 9,900
W) 2z 210-06 |50,000€ x 17 x993] = 4,950

3. 5w {A L 11,000 11,500
Tk ol E RS ST 1,100
1) $98= 210-01 |110,0009 x 1%= 110
2) AT (L) 150
7H 71 210—06 [100,0009 X194 x13]= 100
W x4 210-06 50,0009l x 17 x 18] = 50
3) 2An] 230-02 |15,0009 x 147 x 48] = 840
it St ks m gt s) 4,500
1) £98% 210-01 |50,0009 x18%= 900
2) INTE 210-06 |100,00091 x 167 = 1,600
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718 AEFEWSA
719 AR A uSA A% (5] )
2 o 1=]
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
3) Zu|olxte 210-07 |350,0009 x 2%= 700
4) AFA 2= 210-07 |250,0009 x 4t = 1,000
5) 9] 3 230-02 |15,0009 x 207 = 300
vk g T 5,400
1) 94z 210-01 |50,0009 X 9% x 23] = 900
2) Ak (g 3,600
71 7] 210-06 |100,0009) x 278 x 123 = 2,400
W) =3 210-06 |50,0009 x 27 x 1238] = 1,200
3) Aln 310-01 |8,0009 x 309 x 33] = 720
4) 7+211) 310-01 |3,0009 x 307 x 23] = 180
ASEA R Y 62,290 56,470 5,820
ASER S AR Y 57,500 52,000 5,500
1. ZFEX S AR QL #a) 1,000 2,000 A1,000
7h WS E A A AR A 1,000
1) $ogx 210-01 |15,0009 x 10% x 28] = 300
2) A& A = 210-01 |5,0009 x 204 x 23] = 200
3) A (4R 500
71 7] 210-06 |160,0009 x 19 x 28] = 320
W) x7 210-06 |90,00091 x 1% x 23] = 180
2. 1S EX AR AR Y 56,500 50,000 6,500
7} 24t uA Y 62003 |34,700,0009 x 17} 3= 34,700
L}, 917)8k =) 9 210-15 |200,0009) x 45 = 9,000
ot A AA S A A 12,800
1) 2=8kw 62003 |5,400,0009 x 17} i= 5,400
2) Z8kw 62003 |7,400,0009 x 17} iL= 7,400
GE3 e H3o|gF T A a5 € 4,790 4,470 320
1. Bstrg m o2 4,790 4,470 320
7h thE st et Rl 1,680
1) $9ex 210-01 |30,0009 x 2% = 60
2) 7 (e 420
71 7] 210-06 50,0009 %18 X 63]= 300
W) 23} 210-06 |20,0009 x 1% x 63] = 120
W - FOIREFERS - WA - WFRAA Y — TR L DN E A 157 9
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)
Abgiu <} A5 AEU 202249 (A) | 20214 (B) (A-B)

3) 23 210-12 20,0009 X 10 x 63] = 1,200
uh AR A e A S A 1,790
1) 99 8% 210-01 |50,0009l X 1%= 50
2) Aol 210-07 |500,00091 % 1tj= 500
3) # 3| 210-12 |20,00091 x 408 = 800
4) 2 310-01 |8,0009 x40 = 320
5) 7F21H] 310-01 |3,0009 x40 = 120
ok 9717 AR B A € 1320
D) AR (L) 1200
71 7B 210-06 |100,000¢ x84 = 800
) =3 210-06 50,0009 x 87 = 400
2) 71-41H) 310-01 |3,0004 x 20 x 28] = 120

2,145,797 2,110,066 35,731

3,230 2,790 440

776 776 0

CRARS ARG 776 776 0
b BARALAS 7o
R 210-01 10,0009 x 21%= 210
2) 73 (L) 210-06 |100,0009) x 27 = 200
3) g 210-06 | 14,0009 x 31 x 3] 7k= 126
4) 7H21] 230-02 |3,00049 x 407 x 28] = 240

A 2,454 2,014 440

S =2 200 200 0
7t BESAAAL 200
1) $oda=x 210-01 |1,0009 x50%= 50
2) AR 210-01 |10,0009 x 15t)= 150

2.8 WFHILIAAFES 2,254 1,814 440
PATA 2 2 R R 2,254
1) 8= 210-01 |30,0009 X 1%= 30
9) A5 210-06 |100,00091 %117 x 23] = 2,200
3) 7+2H] 310-01 |3,0009 x 8% = 24

2,142,567 2,107,276 35,291
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kN =C] =7} 2]
7]“&1—:-_ H]EZ]——”’H ‘_l}\:l
7187 et E R A w5 X 9d (F9 1€
RE o] A H _
H o) B & (e < T A fez] H_ X A= a 1 14 Z7) (A —

st FAE9Y 1,220,761 1,171,306 49,455
1. FAnSAR Y 3,050 2,773 277

7} g g A JAAA S 1,440

1) $9e= 210-01 [50,000¢ X 3Fx43]= 600

2) ZFAFTE (dHh) 600

7H 71E 210-06 |100,0009 x 17 x 43]= 400

W) =3 210—06 |50,0009 x 14 x 48] = 200

3) Y8 210—06 [10,000€) X 31} X 2A] 7k X 43] = 240

[ I TA= A R P e e R e 1,610

1) S393% 210-01 |100,0009 x1E= 100

2) #FEn) 310-01 |50,000€ X 297] 1= 1,450

3) 93 230-02 |15,0009 x4 = 60
2. BAFAH AL 1,109,874 1,059,428 50,446

7F 629 620—03 |69,786,0009 = 69,786

U, 258w 620—03 |475,190,000¢ = 475,190

o} =aw 328,912

1) 29 620—03 |328,912,000¢ = 328,912

& 15w 235,986

1) 29 620-03 |235,986,0009 = 235,986
3. 1A EAEAY 95,587 96,855 A1,268

7F x4 620—03 |5,467,0009 = 5,467

U 2S38ky 620—03 [39,922,000¢ = 39,922

o}, =8kw 29,556

1) 29 620—03 [29,556,000¢ = 29,556

2}, 1=y 20,642

1) 29 620—03 [20,642,0009 = 20,642
4. 8t F2A] kx93 H] 12,250 12,250 0

V= AR R RE ) 620—03 |2,450,0009 X5t = 12,250
S FAFANA 921,806 935,970 A14,164
1. R F7)FAA A2 921,806 935,970 A14,164

7V w3 F A 7 2 A 32,987

1) 2538w 620—04 19,360,000 = 9,360
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At & LA & A= 2022 (A) | 20219 B) | =H(A-B)
2) St 620-04 |4,900,0009= 4,900
3) 1538w 620-04 |18,727,0009 = 18,727
. FAA A A st 888,819
D) ez 8gan= 888,819
7H A AN 420-02 |811,292,0009 x5.223%= 42,374
) A)Adn] 420-03 |811,292,0009 x 12 = 811,292
o 7+aEn] 420-04 |811,292,0009 x1.3049%= 10,587
2h) A]AEun 420-05 811,292,000¢1 X 0.664%= 5,387
u}l) 7]F-o] A n) 620—03 |3,300,0009 = 3,300
vl 28] X} 5 A H) 620-03 |15,879,0009 = 15,879
4,989,728 4,317,209 672,519
4,989,728 4,317,209 672,519
B A ¥ 4,989,728 4,317,209 672,519
‘1, 3w 7] g9 n) 4,989,728 4,247,852 741,876
7F 829 620-02 |627,816,0009 = 627,816
U xSy 620-02 |2,735,142,0009= 2,735,142
\ t}. 8w 620-02 |1,626,770,0009= 1,626,770
8,272,836 3,402,856 4,869,980
8,272,836 3,402,856 4,869,980
3= 41,361 12,680 28,681
1. = 3AEEAA 41,361 12,680 28,681
7h Az e 2] 41,361
1) AAm] 420-02 37,589,000¢] X 8.956%= 3,367
2) A4 37,589
7H A AA 420-03 |20,588,000¢1 X 0.54 = 10,294
W) =3 420-03 |103,0009 X 265m'= 27,295
3) A Xn] 420-05 37,589,00091 X 1.077%= 405
g3 4A 8,231,475 3,390,176 4,841,299
1. IAFSA 6,456,476 905,906 5,550,570
7F, 2t ER e () 1,247,479
D A REE 1,247,479
7H A1) 420-03 |1,247,479,0009 x 12 = 1,247,479

WA A —

i

1%

WA AN
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FALHA A (9] - ")
?}ij ﬂfdj AR =A% RESE 20224 (A) | 20214 (B) | Z7(A-B)
IR =gt 198,978
1) A A 420-02 |186,035,0009 X 6.957%= 12,943
2) Al/dn] 186,035
7)) Bh=tx) = 3}8k 31 420-03 12,830,000 x14.54 = 186,035
= I 52,750
1) Al7dn] 52,750
7 f-ok= (=24 420-03 [10,550,0009 x 54 = 52,750
2t o] S WA 1,039,549
1) A A 420-02 |984,720,0009 X 4.935%= 48,596
2) Al%dn] 984,720
7h Al % 420—-03 22,380,000 x 164 = 358,080
) b= x] =3}k 42003 |22,380,0009 x 282 = 626,640
3) A|AEH] 420-05 [984,720,0009 X 0.6329% = 6,233
uh, B S E A 153,560
1) Al4dn] 153,560
7h) $oFE (Z9R) 420-03 13,660,000 x 164 = 58,560
W) 95 (EFES04) 420-03 |2,500,000¢ X 1624 = 40,000
oh) St =8k (=57 420-03 12,500,000 x 224 = 55,000
5] =) = R S 885,341
1) A A 420-02 |836,322,000¢ x5.182%= 43,339
2) AAdm] 836,332
7h A1z 420-03 |17,068,0009 x 164 = 273,088
) gkt x] =3}sk 3 420-03 |17,068,0009 x 3341 = 563,244
3) Al H-tfv] 420-05 |836,322,0009 X0.6779%= 5,670
Ab. 71 EF 120,560
1) A4 120,560
7hH AS¢Z1shd w A 7RA) 620—04 |30,000,0009 x 14 = 30,000
) &-9k= (A ghubol) 420-03 |5,660,0009 X 164 = 90,560
of, 1 AutEnN| & 2,758,259
1) AR uEAF I 2,758,259
7 A]AdH] 420-03 ]2,758,259,0009 x 1 2] = 2,758,259
2. YA AN 154,704 194,069 39,365

ol

A AN — St AN —

= i

T A S A

J
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=7 = 2 o:‘l
713 A5 9A
71389 AR Ed A SA9H (she] : A Q)
= 11:_]-0 A X _
gopzg 22| B3| 2% NESIE == BERE 20224 (A) | 20214(B) | Z7(A-B)
7h, W) 154,704
1) A7 420-02 142,560,000 X 7.6957%= 10,971
2) AlAdH] 142,560
7h *erx 420-03 17,920,0009 x 1641 = 126,720
BRIPAPNES 420-03 |7,920,000¢] x 241 = 15,840
3) Al -t 420-05 |142,560,0004 X 0.8228%= 1,173
3. A QA NA 1,215,241 1,171,109 44,132
4 s R s e 37,428
1) A]AdH] 37,428
7hH Adx 420—01 [4,0009%x1,910.4m'= 7,642
W) 5% 420-01 |4,0009%x1,719m'= 6,876
o) #Ex 420-01 [4,0009X1,677m'= 6,708
2h) A= 420-01 14,0009 x1,389m'= 5,556
ah) A== 420-01 |4,000¢ x906m'= 3,624
vh) o)A w5 A YA 420-01 |4,0009 X 1,755.5m'= 7,022
(B R PR A S 613,215
1) W57} 96,424
7H €14 % (668 m) 420-02 121,835,0009 x 14] = 21,835
W) 95 (1,887m) 420-02 [20,687,0009 x 12 = 20,687
h 3= (371%,900m’") 420-02 |53,902,0009 x 14 = 53,902
2) W2 B73AA 49,865
7h A1 %(1,866m") 420-02 |41,870,000¢] x 14 = 41,870
W) g x] = 3bet a1 (2,876 m’) 420-02 |7,995,0009 x 14 = 7,995
3) WA BZFAL 466,926
7H Al H] 456,750
(1) A1 %(1,866m") 420-03 294,000,000 x121= 294,000
[e] )
(2) =2 =381 (2,876m") 420-03 |162,750,0009 X 14]= 162,750
) 7] n) 420-04 [10,176,0009 x 12 = 10,176
o A A () oA 390,882
1) A 420-02 366,265,0009 X6.001%= 21,980
2) AlAdH] 366,266
7 f-or= (G A n]EEH 420-03 113,489,000 X 8.54= 114,657
IS — FolEEF TS — StuAEAANA — A AN - StwAE AN
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At & LA & A= 2022 (A) | 202149 (B) (A-B)
) o= 420-03 [21,879,0009 x8.54= 185,972
b A A= 420—-03 121,879,000 x 34 = 65,637
3) Al -t 420-05 |366,265,0009 X0.7196%= 2,636
g}, 4 58,960
1) A]dn) 58,960
7h vk x 420-03 [670,0009 X 50m'= 33,500
) AHA = 420—03 |670,000¢ x38m'= 25,460
n}, 2ol E u A 85,340
1) A1AH] 85,340
7hH A % 420-03 |17,068,0009 x 54 = 85,340
vl Qb (A, &40 3t 4,416
1) AlAH] 4,416
7H Az 620-04 138,000 X 32m= 4,416
Ab AEZHEY 25,000
1) Al4dn] 25,000
7h Al % 420-03 |25,000,0009 x 14 = 25,000
4. AF-FAANA 237,126 569,117 A331,991

Ao Bt 17,600
1) A1AH] 17,600
7 mlekx 420-03 |352,0009 X 50m= 17,600

[ s 206,136
1) A AH] 420-02 |191,580,0009 X 6.8629%= 13,148
2) Al%dn] 191,580
7 mlekx 420-03 |103,0009 X500m'= 51,500
) 9718l % 420-03 103,000 X 800m'= 82,400
ohH A= 420-03 1103,0009 X 360m'= 37,080
&) S-ok= 420-03 |103,000€ X 200m'= 20,600
3) A|AE ] 420-05 |191,580,0009 X 0.7349%= 1,408
o HAEE 13,390
1) A1AH] 13,390
7H A= 420-03 103,000 X 130m'= 13,390

5. 47| AN 167,928 121,502 46,426

|27 -

ol

WA A —

= i

J

T A S A
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71389 AR Ed A SA9H (k9] : x4
gopzg 22| B3| 2% Aol %A ENE 202241(A) | 20214(B) | F7HA-B)
7} 2" Al (LED) 156,973
1) A A 420-02 |145,830,0009 X 7.641%= 11,143
2) A|AlH 145,830
7h o= 420-03 |4,970,0009 x 1641 = 79,520
) A= 420-03 |4,970,0009 x 34 = 14,910
o} Fx| =73 420-03 |2,570,000¢ x 204 = 51,400
v}, 71 EF 10,955
1) A]4dH] 10,955
70 mpelx (7] A E 2= 420-03 [10,955,0009 x 12 = 10,955
3 A L5 333,788 343,702 £9,914
HA TS 333,788 343,702 29,914
HAP 059 281,688 277,252 4,436
FARSA ALY 245,448 243,532 1,916
1. AR EA L 244,848 243,052 1,796
7}, Ql8tx - Z8kw 244,848
1) ¢J8r= 320-01 |13,5009 %60 = 810
2) A8 320-01 |817,2009 %1654 = 134,838
3) ¢l AH 320-01 |700,00091x13% x12¥= 109,200
FEZAAAILY 600 480 120
AR SR 210-06 |100,0009 x 67 = 600
P49 36,240 33,720 2,520
1. FAsEA IR LD 36,240 33,720 2,520
4 R = o e R el R 36,240
1) S98= 210-01 |50,0009 x 12% x 2173 2= 12,600
2) A}t 210-06 |40,0009 X 2417k x 1238] X 217 = 20,160
3) 7A}Alu) A n| 210-06 |10,00091 x 1238] x 217 2= 2,520
4) -4 310-01 |3,0009 X80 x43]= 960
EANES 52,100 66,450 A14,350
=MLY 52,100 66,450 214,350
1. 3FEABEAES 30,000 30,000 0
7} =AY 430-01 |15,000€1 x2,0009= 30,000
2. gAEAEAEIA 8,800 8,800 0
WS - FARSE - ALK - A - =
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At S S-AE AbE 20224 (A) | 2021 (B) (A-B)

7} e = 210-01 |50,0009 X 10% x 23] = 1,000
. 3 AAE 8 210-02 |350,0009 x 12¢= 4,200
th 52 K5 210-09 |300,0009 x12¢= 3,600

3. gxgx g AR5 &gF 3,000 3,000 0
7} A gAY 430-01 20,0009 X 150%= 3,000

4. FEEABERYAEY 10,100 9,550 550
b ER TR 2,740
1) $98= 210-01 50,0009 x 24 = 1,200
2) A Sor 210-06 |40,0009 x 3% x 108]= 1,200
3) ZAAFAH] A ) 210-06 10,0009 x10%]= 100
4) 7+414) 310-01 |3,0004¢1 %201 x43]= 240
o S o AL 1240
1) S9e= 21001 |40,00091 % 28%= 1,120
2) 7FAH) 310-01 |3,000€ x 207 x 28] = 120
ok EA gz AL 720
1) $98= 210-01 |50,0009x12%= 600
2) 7HAH) 310-01 |3,000€ x 207 x 28] = 120
2k =AM g A A 8 750
1) =g 210-06 |100,000¢1 69 = 600
2) 393 230-02 |15,0009 x 10 = 150
R R R BT 4,050
1) $98F 210-01 |50,0009 X 5% x 33| = 750
2) A 210-06 |40,00091 x 2 x 333]= 2,640
3) Z3AFAH] AN 210-06 |10,000¢l x33%]= 330
4) 7FAH) 310-01 |3,000€ X557 x 28] = 330
LI R AR po0
1) d&A8-9n 210-15 |50,000€ x 129 = 600

5. T3 =AM AL INAL 200 200 0
7}, okzrAH e 200
1) ¥ &y 210-03 |200,0009 x 17 = 200

1,933,512 1,849,896 83,616

1,356,868 961,161 395,707
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94 157 €% A
o) 1=
?};3 jg Aol B Az 2022d(A) | 20214 (B) (A-B)

271 &9 u) A 3 6,519 6,519 0
A5 A7) 8Bz 4,860 4,860 0
1. FeYgFAgTgF3 4,860 4,860 0

7h. W54 3 2,650

X E 210-01 |50,0009 X 10%= 500

2) A=A 2 210-01 |10,000€ X 200%= 2,000

3) ¥ <] 3 230-02 |15,0009 x 10 = 150

U Fo At 2,210

1) A=Az 210-01 |10,000€ X 100% % 23] = 2,000

2) & 9] 3 230-02 [15,0009 % 7 x 28] = 210
H 3 v Al 82 1,659 1,659 0
1. B ciu] Al F E B Qe 662 662 0

7h A ]S ]bd sk & 662

1) $9g= 210-01 |50,0009 x 4%= 200

2) PARSY 230-02 |8,000¢ x42% = 336

) 7+-A1H) 230-02 |3,0009 x42%= 126
2. %Z]FH:L?‘;% 997 997 0

7} g E 210-01 50,0009 X 6% = 300

L}, Aln) 230-02 |8,0009 <41 328

t}. 7-211) 230-02 |3,0009 x 417 x 33| = 369
A -2 7,119 7,314 A195
A BT 7,119 7,314 A195
1. A=A ZA 615 810 2195

7}, AL E ) 250—04 |5,0009 X 37 x 133]= 195

U A A o) AP wkg-of 2k 210-06 |40,00091 % 64 = 240

t}. 39 3 230-02 |15,00091 %67 x 28] = 180
2. TR LY H o2 7 st 6,504 6,504 0

7} BEE S 768

) g 210-01 |50,0009 x 2%= 100

2) ZFArE (YR 500

b 75 210—06 |160,000¢ x 17 x 23] = 320

W) 23} 210-06 90,0009 x 19 x 28] = 180

WS AN - AP R - AR




Z1#E AEdEWSA
Ny AR EQ AT 2% (&2
N o H
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
3) e 210-06 |14,0009 x 37 X 4] 7k= 168
RECE R R R R s 5,736
1) $94e= 210-01 |50,0009 x 6% = 300
92) A A= 210-01 |9,000¢1 X 30%-x 33| = 810
3) A &n 210-15 |15,0009 x 3078 x 38] = 1,350
4) AR A 210-02 | 7309 x 307 x 38]= 66
5) A b (dRh) 750
71 7B 210—06 |160,0009 %1% x 33| = 480
W) =3 210-06 |90,000¢ x 19 x 33] = 270
6) 18 210—06 |14,000¢ x 3] X A Zk= 252
7) A= 210-07 |286,0009 % 33]= 858
8) 23 230-02 |15,0009 x 307 x 38| = 1,350
EE R B 6,294 6,294 0
E S e p 1,828 1,828 0
1 259371837198 4% 1828 1828 0
7 LS A2 7} 1,828
1) AAB7HA 8 A 57k oo
1 A A= 210-01 |6,300€ X80+ x 18] = 04
2) A7 8] 1,324
e E 210-01 |17,0009 % 6% x 23] = 204
) 2A) =k 210-06 |100,000¢ x 47 x 23] = 800
th) A Au] ) 210-06 |20,0009 x 478 x 23] = 160
2h) A1) 230-02 |8,0009 %109 x 28] = 160
BPNAEFA 4,466 4,466 0
1. 24P F3 s 4,466 4466 0
7h S 4 A A E 9 1,266
1) $9e= 210-01 50,0009 x4%= 200
2) ZArr (LN 340
7h) 7)1 210-06 [160,0009x1%= 160
W x4t 210-06 90,0009 x 17 x 28] = 180
3) g 210—06 |14,0009 x 3] X 3A]Zk= 126
4) & 9] 3 230-02 [15,0009 X201 x 23] = 600

W - AN - WEPPAT - PRz B - FYAABEAD
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AR AR A R R (9] - 212
Hopru ﬁf‘j ?}2 ﬂ:ﬂ; JARSIE TS 2o ] 2022d(A) | 20214 (B) | Z2(A-B)
L R R R 1,500
1) =439 210-01 15,0009 %507 x 28] = 1,500
o AR A A YT R3] 1,700
1) ¢34 210-01 |17,0009l X 20% % 53] = 1,700
I B B R A1 B DR I PN 7,358 7,118 240
TS F AR BA| AL 5,868 5,868 0
1. 2B 0Ly 5,868 5,868 0
7h ARS8 3,000
1) AxgE 210-01 |50,0009 X 10% x 23] = 1,000
2) PCSa]n) 210-09 |100,00091 X 103]= 1,000
3) AES/W 440-01 |500,0009 X 2= 1,000
. AR A) B 2,868
1) AxgE 210-01 |100,0009 X 5% x 23] = 1,000
2) H/W A B30 210-09 |23,339,000€ X 8%= 1,868
AP 7S EDE 1,490 1,250 240
1. 7] S 3N 2893 1,090 1,090 0
7h 715 1,090
1) RELE 210-01 |109,0009! X 10%= 1,090
2. 3RFNLD 400 160 240
7F B ug7h A 2] g 400
1) 5 210-06 |100,00091 x 41 = 400
A2 AT 1,520 1,520 0
o A7 1,520 1,520 0
1. A S53AANFELFA 1,520 1,520 0
7}, 22 A = 210-01 10,0009 X 40%- % 23] = 800
U}, 393 230-02 15,0009l X 12 x 43| = 720
A=z 264,657 176,554 88,103
ZHANDEZ A 264,657 176,554 88,103
1. ZZeAATB 6,130 7,130 21,000
VAo B A A= s e 210-01 |1,000,000¢) x 48] = 4,000
T AAA o 32 1,410
1) 98 210-01 |20,00090 x 4% x 23] = 160
WE - WA - wEHAR - A - RN E SR
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7138 AEZERIA
713 AR Ed A w293 (9] - )
gopzg 22| B3| 2% ESIE =A% A2 2022d(A) | 20219(B) | Z7(A-B)

2) Ak 210-06 |100,0009) x 47 x 28] = 800

3) 23 230-02 |15,0009 X107 x 33] = 450

v}, # A BEH) 25004 |60,0009 x 17 x 128 = 720
2. W A AT 162,339 21,810 140,529

7. | ¥ 18,810

1) AlAg-22=1a 210-09 |1,200,0009) x 48] = 4,800

2) ol AuH| & (CCTVESH) 210-13 |130,0009) x 371 x 12€= 4,680

3) W w e 210-09 |2,960,00091 x 37} .= 8,880

4) &9 3 230-02 |15,0009 x 107 x 38| = 450

. AR A TG A 143,529

1) AA 2R 420-01 |13,048,00091 x 12 = 13,048

2) A A 420-02 |130,481,0009 x 14 = 130,481
CEEZggguaa 77,125 0 77,125

7V AN N BT 210-01 |500,0009) x 2t x 18] = 1,000

L AR 27 9HE S e 76,125

D ex¢ 620-03 |7,135,00091= 7,135

2) 258w 620-03 |39,245,0009= 39,245

3) 8w 620-03 |29,745,0009= 29,745
4, TLATA M ZA 31 19,063 16,114 2,949

7}, S AT A A B A 3] 1) 210-02 |19,063,0009= 19,063
gl X] A) 2 768,741 514,132 254,609
gl =] A D B 768,741 514,132 254,609
1. 23 Ax g 735,561 483,662 251,899

7} Eahe] Aokbd me 1,000

1) $98= 210-01 |166,0009] x 2%= 332

2) AT (LD 500

71 782 210-06 |160,00091 x 17 x 23] = 320

W x4 210-06 |90,000¢ x 17 x 28] = 180

3) 98 210-06 | 14,0009 x 31 x 44 7k= 168

U, AAE Aol e 210-07 |441,556,0009= 441,556

U}, Bahu Ao 620-03 |141,005,000¢= 141,005

2}, Bahu Aoy 430-01 |76,000,000¢ x 2t) = 152,000

WS - WA - WEFAW - SN A — YA 2
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)
At S S-A5 AEeg 2022 (A) | 20219 (B) (A-B)
2. S E8= 32,760 30,050 2,710
7}, BAIH] %) Y 620-03 |32,760,00091= 32,760
3. YA Y F 52 420 420 0
7}, & o) 3] 230-02 |15,00091 % 14 x 23] = 420
9,860 8,580 1,280
Zul o g 6,660 5,660 1,000
1. gugdsagy 2,660 2,660 0
7h Stueg el dds 2,180
1) 2o9F 210-01 (83,0009 % 2%= 166
2) 7R (L) 500
71 7= 210-06 |160,00091 x 173 x 28] = 320
) =3} 210—06 90,0009 x 17 x28]= 180
3) 418 210-06 |14,000€ x 3u x 2] gk= 84
4) 2n 310-01 |8,0009 %657 x 23] = 1,040
5) ZF2n] 310-01 |3,0009 X657 x 23] = 390
L St g ol E e 480
X 210-01 10,0009 X 3%= 30
2) &9 3 23002 |15,00091 % 157 x 23] = 450
2. IR RS FA A A A 4,000 3,000 1,000
7b. St et kol A ¢ 4,000
1) $94F 210-01 |50,00091 X 20%= 1,000
2) As A= 210-01 |25,0009 X 10%= 250
3) ZAAER (L) 2,250
7 7] 210-06 |100,000¢1 X 3% x 53] = 1,500
W %3 210-06 |50,0009 x 3% x 53] = 750
4) An 31001 [8,0009 x 207 x 23] = 320
5) 7FAIn) 310-01 3,0009 x 207 x 33| = 180
TE5FHAY 3,200 2,920 280
1. 25 Y AR A e 2,200 1,920 280
7h REA ALY 2,200
1) $dgx 210-01 |50,00091 x 8% x 23] = 800
2) A5t 210-06 |100,000¢ X 7% x 28] = 1,400
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719 AE 7B A
7137 AR Ed A nSA9d (o] - 3 €)
2 o 1=]
gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)
2. 5 AR SFHA Y 1,000 1,000 0
7F A HHA A 1,000
1) $ge= 210-01 50,0009 x 8% = 400
2) 993 230-02 15,0009 X 207 x 23] = 600
Al AL #E 284,800 233,130 51,670
A AT 2% 284,800 233,130 51,670
1. A AA =A% ¢ 284,800 233,130 51,670
7. B A A e 147,504
1) 2 210-09 |121,025,0009 x 1] = 121,025
2) MA v gl 210-15 |25,451,0009) x 14 = 25,451
3) A2y 420-05 |1,028,00091 x 14 = 1,028
L i TR R R e R =) 7,296
DR 210-15 |608,0009 x12¢= 7,296
v}, S 2A 130,000
) Az 620-03 50,000,000 x 12]= 50,000
2) Az 620-03 |30,000,000¢ x 12]= 30,000
3) Fe= 620-03 50,000,000 x 12]= 50,000
] 576,644 888,735 £312,091
712590 513,823 888,735 A374,912
717 B-gdu 513,823 888,735 374,912
1. 712221 30,120 28,910 1,210
7b 718 7) 29 A ] 30,120
1) 7) 242 B F 558 A n] 250-02 |400,0009 x 12¢= 4,800
2) 71BN 230-01 |21,000,0009= 21,000
3) LAY FF=%01] 230-01 [80,0009 x547 = 4,320
2. B 7|23 7] 119,058 122,820 A3,762
7} 2SR L 48,864
1) dnke-<gy] 7,024
7H A% 210-01 [1,200,000€4= 1,200
) Aol 210-01 |416,0009 % 147 = 5,824
2) E2uj2n) 210-05 |8,0009 x 147 x 209 = 2,240
3) B AL A 210-15 [400,0009 x 129 = 4,800

e - YN - 71 Bed - 7]

HEgnR - 7879
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N AZEzHEY A
bR R R (5] - <)
2] =0 [$) H
Bopnm j} Z—j ?};3 jg Ape el == Az 20229 (A) | 20214 B) | =7(A-B)
4) =] 31,920
7h ) 220-01 |20,0009 x 147 x 408] = 11,200
W) = 220-01 40,0009 x 147 x 303] = 16,800
) E9 220—-01 |70,00091 X147 x 43]= 3,920
5) 2230 =3 A n) 250-02 |100,0009 x 12€ = 1,200
6) 5784573 1,680
7hH Fur (ASFERS) Tt 250-03 80,0009 %1% x129= 960
W #AuSEddd Ty 250-03 |60,0009 X1 x129= 720
L. 27 2] 3t 70,194
1) drb-adn] 11,184
7} FAq 210-01 |1,200,0009 x 18] = 1,200
) ARl 210-01 |416,0009 x 247 = 9,984
2) E2ujAln] 210-05 |8,0009 X 25 x 149 = 2,800
3) FJ$-od A 210-15 |400,0009 x 12€= 4,800
4) =] 40,250
7H 220-01 |20,000¢ x 257 x 233]= 11,500
W} =4 220-01 |40,0009 x 25 x 208] = 20,000
) £9 220-01 |70,0009 X 25 x 53] = 8,750
5) AAFAR58 A n) 250-02 [100,0009 x12¢¥= 1,200
6) 57415734l 9,960
7h elitedE e 250—-03 |150,0009 x 3 x129= 5,400
W) A g g e 250-03 80,0009 x 2% x 129 = 1,920
) AGITEY 250—-03 60,0009 x 27 x 129 = 1,440
2}) skl ul x| P 3 9] 250-03 |100,0009 x 14 x 12€ = 1,200
3. 71#2 9731l 164,096 162,414 1,682
b FFLTHANA 19,814
1) A7+ 210-02 2,400,000 x12¥= 28,800
2) Aste 210-02 |367,0009 x12¢= 4,404
3) QlEJ Yl EAlH] 210-02 |400,0009 x 12€= 4,800
4) Astrr o2 210-02 |300,00091x 129 = 3,600
5) EAFAL T 210-02 |450,0009 x 12€= 5,400
6) +Hew 210-02 |50,0009 x 129 = 600
WG - WU - 7RG - 7B - 7S
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7188 AEZEu A
719 AR A uSA A% (9] - H 4
] A o H

gopzg 22| B3| 2% Aol %A% e N 202241 (A) | 20219(B) | F7HA-B)

7) AL S 210-02 |50,000¢ x12€¥= 600

8) AMFolA e 13 n) 210-02 60,0009 x 1= 60

9) AYEFHIR 210-02 35,0009 x10%= 350

10) #TAAE 1] 210-02 |100,0009 x12¢¥= 1,200

. AR A B 9,600

1) W] 210-09 |60,000¢ X 10t] x 43] = 2,400

2) &7 2] 210-09 |600,000¢) x 123]= 7,200

o}, YA} 37,120

1) 2MAREAASSTE 210-13 |210,0009 x129= 2,520

2) A7t A A AFTE 210—13 [250,0009x12¢¥= 3,000

3) 27N AAASFSFE 210—-13 |200,0009 x 124 = 2,400

4) A7) 94 210-09 |50,0009 x5t) x 129 = 3,000

5 Fds#He 210-01 |1,500,000¢) x 23] = 3,000

6) FAHTA e 23,200

7H AHA g 210-09 [1,200,0009x12¢¥= 14,400

) AL 210-09 |400,0009 x129= 4,800

h HA A & 210-01 |2,000,000¢ x 23] = 4,000

2h, W] b2z

1) A2 210-08 |898¢1 x 3T X413k x 259 = 270

2) &A1 210-08 |89891 X 8A7Fx 359 = 252

P e 4,800

1) Fo17n g 210-13 |400,0009 x 129 = 4,800

HE, AR 23 7R A 21,278

D) AFFE A 430-01 |950,0009) x 13t]= 12,350

2) ZTAE (A4, 59 430-01 |450,00091 x 2t} = 900

3) MG =UH 430-01 |250,0009) X 6t = 1,500

4) APRgu = 430-01 |652,800¥ x10%= 6,528

A BRAFRY 23,702

1) & %£(30,000kmo] ) 210-10 7,824,0009 x 1t} = 7,824

2) A8 %3 (10,000km™] 7 210-10 |7,878,0009 x 1t = 7.878

3) £ A=A A A QAR 110-03 |100,000¢ X 803] = 8,000

of. ANk H] 17,260

W = WEA - VERY - 712G - 71872
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Abd ] < A5 AEUS 2022€d(A) | 2021€9(B) (A-B)

1) x| 210-15 |20,0009 x 1008 = 2,000
2) wSHA 210-15 100,000 x64= 600
3) 7HP = 210-01 20,0009 X 25% X 129 = 6,000
4) WSE RN 210—01 |300,000¢) x43]= 1,200
5) TFEokE 210-01 20,0009 X 10% X 23] = 400
6) w533 210—15 |1,000,0009 x 3% = 3,000
7) 3] En) 210-03 300,0009 x5 = 1,500
8) = A]F9] 210-01 |10,0009 x30d= 300
9) AL 2,260
7h sEYLEFET] 236
(1) e938= 210-01 23,6009 x10%= 236
BRI 744
(1) 5% 210—15 10,0009 X505 = 500
(2) £98= 210-01 24,4009 x10%= 244
) B9 A 310-01 |160,0009 x 472 % 23] = 1,280

4, TAFA7BEYEZ21 9,496 9,496 0
7} ARG 2,376
1) A 210—01 |800,000€= 800
2) /s 210-01 [394,0009 x4 = 1,576
U, E2u Al 210-05 |8,000¢) x4 X659 = 2,080
o}, BA £ A 210—15 |100,0009x12¥= 1,200
2}, =ujoln| 2,640
1) ZJ 220-01 20,0009l x4 x 83| = 640
2) T 220-01 40,0009 X 47 X 93| = 1,440
3) %9 220-01 |70,0009 x 47 x 28] = 560
uf, 2 A3 IL2=s) A ) 250-02 |100,0009 x129= 1,200

5. EA A7 e AN 45,139 44,657 482
7h 33 e AA 14,067
1) A7+ 210-02 |783,3309 x124= 9,400
2) A3} F 210-02 60,0009 x12¢9= 720
3) At 210-02 65,0009 x12¥= 780
4) S2Bo| 844w 210-01 40,0009 x12¢9= 480
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Abgiu <} S-AE AEU 20224 (A) | 202194 (B) | SH(A-B)
5) A7 A AAES = 210-02 |100,0009 x 12¢¥= 1,200
6) AolEsA 210-02 |11,0009 x 129 = 132
7) =X 3] 210-02 |180,0009 x 3= 540
8) AARZRI T 210-02 65,0009 % 13]= 65
9) JguiAR B & 210-02 |150,0009¢ x 138]= 150
10) pc@a| s 210-02 |50,0009 x 123]= 600
. AR A B 2,200
1) A A 210-09 |100,000€ x12¢9= 1,200
2) WyHl7) 210-09 |100,00091 x 10t} = 1,000
S PSS 6,720
1) ZASA RS 210-09 |250,0009 x12¢= 3,000
2) A7)z 210-09 |80,000€ x12¢9= 960
3) vl 210-09 |130,0009 x12¢¥= 1,560
4) AP A= 210-09 |300,0009 x 43]= 1,200
2k ARk g H| 7,800
1) e A E 210-01 |140,000€1 x 43]= 560
2) TR LE 210-01 |725,0009 x 43]= 2,900
3) A 210-01 |360,00091 x 43 = 1,440
4) EAMARCH AHn) 210-01 |1,080€¥x2,500A= 2,700
5) 3] ¥n) 210-03 |200,0009 x 1= 200
m}. g4 9 1,320
1) Q174189 210-13 |110,0009 x12¢= 1,320
vl 7B 210-01 |10,000¥ x9Fx12¢¥= 1,080
Ab. LS 7 0 210-01 |250,00091 x 478 = 1,000
of. Ab3| %40 gl ] 10,952
1) B 310—-01 |573,000€9 x19 x12¥= 6,876
2) 214 310-01 16,0009 x 17 x 2529 = 1,512
3) WEH] 310-01 |8,830x 1% x252%= 2,226
4) ¥ En 310-01 |300,0009 %1% = 300
5 B3z 310-01 |38,0009 x 1= 38
oA 3 & AE S 145,914 520,438 A374,524
7F ol Al AE 2 g 145,914
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7189 AR d 1S 4% (& - "4
] A o H

gopzg 22| B3| 2% NERE = BESE 20224 (A) | 20219(B) | 24 (A-B)

1) 7]1&-4n 145,914

7h 713718894 7 16,600

(1) £98= 210-01 80,0009 X 4% x 43| = 1,280

(2) Fjein] 7,800

o B 220-01 [20,0009 x15% x103]= 3,000

) =y 220-01 40,0009 X157 x 83 = 4,800

(3) 71#-2 A F=7A1) 230-01 |2,280,0009= 2,280

(4) AN FATE53 7] 250-02 | 150,0009 x 17 x12¥= 1,800

(5) Yrk-<dH| 3,440

op B ET= 210-01 |20,0009 x12¢¥= 240

) FEFE=E 210-01 |20,000¢1 X 20% x 53] = 2,000

(th 3 En) 210-03 300,0009 x 47 = 1,200

) 23T RAA 46,910

(1) A718+ 210-02 3,000,0009 x 129 = 36,000

(2) Ase & 210-02 95,0009 x 129 = 1,140

(3) At o+ 210-02 |200,0009 x124= 2,400

(4) AEYEAIH] 210-02 |400,000¢ x129= 4,800

(5) $HA+w 210-02 10,0009 x 129 = 120

6) FARETFAE 210-02 (50,0009 x 129 = 600

(7)) AHZ=Rrn3 8 210-02 100,0009 x13]= 100

(8) 71EbAI Al 210-02 |350,000¢ X 53] = 1,750

o) =) e 3,600

(1) Fo1A4n g 210-13 |300,0009) x124= 3,600

2 AE-6-# e 54,404

(1) AESA R 210-09 [2,000,0009 x12¢¥= 24,000

(2) AL E 210—-13 |700,0009 x84 = 5,600

(3) =AAA} 210-13 |60,000¢l X 43]= 240

(4) FAAN X B 210-13 200,0009 X 3% < 73] = 4,200

(5) A7)¢kx Az 210-13 |190,0009 x124= 2,280

(6) A7y 210—07 [150,0009 x12¢¥= 1,800

(7) A2ANSA RS 210-13 |100,0009 x124= 1,200

(8) A8 210-13 |575,0009 x84 = 4,600

W& - AU - 7 HLE - V) EEGH - 7B 290




71eE AEZE A
7] )
wof Abd ] < A5 AEUS 2022€d(A) | 2021€9(B) (A-B)
(9) 29A A d g 210-13 132,000 x129=
(10) 3FAAE =TT ALY 210-13 |550,0004 x 23] =
(11) NABEARE 210—15 |65,0009 x10Fx129=
wh) 714 AR e
(1) 7)< A A & 210—-15 400,000 % 18] =
(2) FAAYAEFE 210-09 |400,0009 x 10¢ =
(3) g ATEAA 210-09 |500,000¢ x 23] =
up) AFEEHE 430—-01 |1,500,0009 X 11%=
AD w27 T 430—01 |500,0009 x 5% =
AP BAA 0 62,821
HEREESES 0 62,821
1. A&7 BAA 0 62,821
7h Aol A S5 AlE A A A
1) A Amn] 420—-02 |57,143,0009 X 8.8829%=
2) AAn]
7h FaeAdnrss 420-03 |10,550,0009 x 0.54 =
W) oA A H A w A 420-03 |17,097,000€ x 2.5%4 =
th) LEDZ w A 420-03 |3,650,0009 x 2,562 =
3) Al B n) 420-05 |57,143,0009 X 1.0532%=
7€k 1,942,503 218,845
1,942,503 218,845
1,942,503 218,845
1,942,503 218,845
A 9ol A H] 1,942,503 218,845
1. & FFA LA A8 7 1,942,503 A18,845
7h. WA AR ZA ]
1 7185 110-04 |1,840,0009 x 274 x 129 =
2) L&4T 110-04 [496,48191 %279 x 129 =
3) &3 110—04 |1,440,0009 x 129 =
4) 2] 110-04 |140,0009 x 279 x 129 =
5) A 110-04 |1,777,9258 X279 =
6) HAFIRAZ 110-04 | 600,000€ x 279 x 23] =
71F — 78] — Q18] — FEARJIAH] — wSFFAL1H]
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] [$) H
BolHE 3; ?};3 fg Apel el %A A&yl 2022 (A) | 2021 (B)

7) A7)+ 110—-04 |450,0009 X 277 x 28] = 24,300
8) W3 = A n) 240-02 |550,0009 x 279 = 14,850
9) Bl A 320-12 |3,297,6209 %274 = 89,036
10) 49| RE 7| AR = 320-12 1917,707,400€ x11.21%= 102,875
L, IS AR B 38,137
D 7135 110-04 [1,840,0009 x 17 x 129 = 22,080
2) &S 110-04 [437,5009 %1% x129= 5,250
3) M 110-04 |120,0009 % 17 x 129 = 1,440
4) FA1) 110-04 [140,0009 %1 x12¥= 1,680
5) 23T 110—-04 [107,0009 %14 X109 = 1,070
6) WAS7IR A 110-04 |600,0009 X 1§ x 23] = 1,200
7) A7)l & 110—-04 |450,0009 x 19 x 23] = 900
8) W& = A n) 240-02 |550,0009 x 1= 550
9) 4R 7| AR FZ 320-12 |35,388,0009 X 11.21%= 3,967
= Eat IR NETA= e k) 21,241
D 7135 110—-04 |1,150,0009 x 1% x 129 = 13,800
2) F2n) 110-04 [140,0009 x129= 1,680
3) Az 110-04 |49,6209 x 14 x 262 = 1,291
4) BAFIIRAF 110-04 |600,00091 X 17§ x 23] = 1,200
5) ub33] 2 2] 240-02 |550,0009 x 17 = 550
6) BRAYZ 320-12 |1,488,000¢ x 1= 1,488
7) AR 7| AT 320-12 |10,990,0009 X 11.21%= 1,232
el Eatd i PPN SRS el 368,871
D N2538laged 307,848
7hH 824 620—01 |14,732,0009= 14,732
W) 258w 620-01 |293,116,0009 = 293,116
2) FAAH L4 R 7| AT 61,023
7h 524 620-01 |2,933,0009= 2,933
) 258y 620-01 |58,090,000¢= 58,090
vl Wee Al Bl AL 3] 352 A} 40,141
D 71¥5 110-04 |2,040,0009 % 18 x 129 = 24,480
2) &S 110-04 [350,0009 %14 x12€= 4,200

718F — 13H] -
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] A [S =]
gopzg 22| B3| 2% Agvle %5 ek 20224(A) | 20219 (B)
3) 21 110-04 [140,0009x 19 x12¢9= 1,680
4) A5G 110-04 |96,8509 X 1% x 109 = 969
5) WAF/IR A 110—04 600,000 x 1 x 23] = 1,200
6) A7 & 110-04 450,000 x 174 x 23] = 900
7) 2NEFTE 110-04 |18,2009 X 19 x 254 3k= 455
8) WE& E 1)n| 240-02 550,000 x 194 = 550
9) §RAYF 320-12 1,897,0009 x 1= 1,897
10) AR 7| A+ 320—12 [33,979,0009 x11.21%= 3,810
HE, Wee Al E A& A EA 73,902
1) 718 110-04 [2,040,0009 x 2™ x 129 = 48,960
2) &5 110-04 |157,5009 %19 x12¢¥= 1,890
3) F2H) 110-04 [140,0009x29 x 129 = 3,360
4) V&G 110—04 60,0009 x14 x129= 720
5) AAx}S=or 110-04 86,8509 % 2% x 10 = 1,737
6) HAFIIRAZE 110—04 |600,000€ x 2 x 23] = 2,400
7) AN 110-04 |450,0009 x 27 x 23] = 1,800
8) 2HPLHSFIF 110—04 [16,9009 X 27 X 25A] 7b= 845
9) W3 E 2)n) 240-02 458,330 %34 = 1,375
10) 7= &+ 320-12 |3,837,0009 x 1= 3,837
11) AR 7 | A g+ 320—-12 |62,242,0009 x11.21%= 6,978
Ab. B A FARRI BT (G o A B Al E]) 41,505
1) 718+ 110-04 |1,840,0009 %18 x12¢¥= 22,080
2) &4 110-04 |420,00090x1% x129= 5,040
3) =G 110-04 80,0009 %19 x12¥= 960
4) F2H) 110—04 [140,0009x 19 x129= 1,680
5) 2HLFES 110-04 [12,0009 X 19 X 15A]7k= 180
6) Ax}4oF 110-04 94,0009 %1 x 21 = 1,974
7) HAEAFIIR A 110—04 [600,000€ x 17 x 23] = 1,200
8) A7+ 110-04 |450,00091 x 17 x 23] = 900
9) k=3 X 2)n) 240-02 |550,0009 x 1= 550
10) 8=+ 320—12 |3,200,0009 x 1= 3,200
11) 49237 g2 320—12 33,364,000 X148 x11.21%= 3,741
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719 AR A uSA A% (9] -
Z] 20 [} =]
op g A2 ?};3 fg NERE = BESE 20229 (A) | 20219(®B) | Z%(A-B)
of. Al ghe] A (G o) A F A E) 24,959
1) 71¥3F 110-04 |1,380,0009 X1 x12¥9= 16,560
2) =21 110-04 [140,0009 x 19 x 129 = 1,680
3) A5G 110-04 59,0009 X1 x 199 = 1,121
4) HAFIIR A 110—04 600,000 x 19 x 23] = 1,200
5) WhEEE 2| 240-02 |550,0009 x 17 x 13]= 550
6) Bl XAYF 320—12 |1,600,000¢ x 1= 1,600
7) AR 7| ARG 320-12 [20,050,0009 X 1% x11.21%= 2,248
2t A=A A7) (F o A Al E]) 21,724
D 71¥+ 110-04 [1,150,0009 X1 x 129 = 13,800
2) 214 110—04 [140,0009 x 19 x 129 = 1,680
3) A} 110-04 60,0009 x 17 x 269 = 1,560
4) HAFIIRAZ 110—04 |600,000€ x 17 x 23] = 1,200
5) k=3 E 2] n) 240-02 |550,0009 x 1= 550
6) HA A+ 320—-12 |1,700,0009 x 1= 1,700
7) 4RI 7 HRGF 320-12 |11,000,0009 x11.21%= 1,234
2t G FARRJI ] (G o A ALE]) 44,004
1) 7185 110-04 2,040,0009 x 14 x 129 = 24,480
2) &5 110-04 |280,0009 %1 x1¥= 280
3) =S 110-04 60,0009 x1¥ x12¥= 720
4) F21) 110-04 |140,000€x 1% x12¢¥= 1,680
5 23} 110-04 |18,0009 x 17 x 204 7+= 360
6) Ax}oF 110-04 [105,0009 x 17 x 229 = 2,310
7) "I 7MA 110—04 [101,150€9 %19 x129= 1,214
8) 9IRS 110-04 |50,00090x 19 x129= 600
9) HAF/IRAZF 110—04 |[600,0009 x 17 x 23] = 1,200
10) A7) Aro] = 110-04 |450,000¢ x 17 x 23] = 900
11) 23 Hx)n) 240-02 |550,0009 x 1= 550
12) &A1= 320-12 3,000,0009 x 2¥§ = 6,000
13) 4R 7| ARG+ 320—12 33,094,000 x 18 x11.21%= 3,710
S EN TR NCS SR R 2D 83,236
D 715 110-04 |1,840,00091 % 2 x 119 = 40,480
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wopnm 8% ] A5 AFE U A5 AEuY 20229 (A) | 20219(B)
AF A A B ! v B = =
9) L&} 110-04 |472,5009 %2 x 129 = 11,340
3) 7t 110-04 40,0009 x 27 x 129 = 960
4) F21) 110-04 |140,00091 x 27 x 129 = 3,360
5) Iy 110-04 | 18,000€ x 21 X 304 7k= 1,080
6) A5 110-04 |100,00091 x 27 x 209 = 4,000
7) ZE A 110-04 91,1509 x 1% x119= 1,003
8) 9|8 =y 110-04 |50,0009 X2 x 119 = 1,100
9) thA & AN 110-03 |71,0009 %102 = 710
10) HAZ7IR A+ 110-04 |600,0009 x 27 x 28] = 2,400
11) Z7)14e) =+ 110-04 | 450,0009 x 27 x 23] = 1,800
12) 2= E 2 H) 240-02 |550,000¢ x 27 = 1,100
13) HAA8= 320—-12 |3,300,0009 x 27 = 6,600
14) 4R 7| RS 320-12 32,570,0009 x 2% X 11.21%= 7,303
e A (=AM 20,581
D 71 110-04 |1,162,0009 x 129 = 13,944
2) F21H) 110-04 | 140,0009 x 12€= 1,680
3) da44 110-04 43,4009 x1% x159= 651
4) AFTIRAT 110-04 |600,0009 x 23]= 1,200
5) 2FE§) ¥ 2] H| 240-02 |550,0009 %1% = 550
6) HAAY= 320-12 |1,380,0009 x 1% = 1,380
7) ARV BHE G 320—12 ]10,490,0009¥ x11.21%= 1,176
b, A (A8 14,232
D 7185 110-04 690,000 x 129 = 8,280
2) F2H) 110-04 140,0009 x 129 = 1,680
3) A5 110-04 [443,0009 %1% = 443
4) BAFIIR AL 110-04 |600,00091 x 23] = 1,200
5) g3 B )| 240-02 |550,00091 X 19 = 550
6) B A AYZ 320—-12 |1,300,0009 x 194 = 1,300
7) AR E AT 320-12 6,949,000€ x11.21%= 779

718k — Q1] — 1AH] - ZFEARJIAY] - w52 4Qln] 43




